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Feb . 43,2015
MC, Chem1B, Sp 15, Test1

Read questions carefully to understand what is being asked. If you have doubt, do ask your instructor. Use the reverse side o
your answer paper as scratch. Use attached periodic table and important constants chart. On your scantron, please start

from number 11 to answer the multiple choice questions. (Total pts. = 84 + 36 + 12 = 132)

SHORT ANSWER: Be clear in your answer. Show all your calcualtions using appropriate set up and units.

1) Draw the Lewis structure, electronic geometry and then write the hybridization of the 1)
central atom next to the following compounds (3x6 = 18 pts):
(a) S042- T r': ﬂ?r 5
RS S i fb 'S»@f Ax, - Tebwhedial, . 5,03
. -iq_ { w | = j '
g€ L :0: ,i /f
—~ - Al g B 3
- r @) w7 F Tenavned bipyaamidal 052 d
Ol Ty 2§, AKaEs - T m® T P
Tx3+|=22¢ ‘v J LbLinear )
T J
T%‘ 4
B
[
-'n.C“!‘ . = . 2 b .5’ 3,‘;
ol ji A VL AA P FTat.! aei ~
O N Y > CEEE 5f #
E+7x5=40¢ "\ 3
4 v
- 30 e cr¢
— L e
o ’
10
2) Draw skeletal or condensed structures next to the names (2x5 = 10pts.): 2)
_93_di _3. H# CH=2 ~
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(b) 1,2- Dimethylcyclopentane
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3) Write the systematic (IUPAC) name next to the following structures (2x3 = 6pts.). 3)
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4) (a) Show thewmwrﬂoaﬁ;t s)/o?‘the following reaction (5 pts) and (b) name 4)

what kind of reaction is this (2 pts) :
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5) Dra densed s ures of the reactants and product(s) of the reaction between 5)

/propionic acid-and -propa_rlgL(:S pts.) and name the major product (2 pts)and the
functional group itm (2 pts.). ;
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6) The following experimental data were obtained at cgr;ngJempe&atm for the 6)
reaction:
2NO(g) +O2 (g) --—--- > 2 N02(g)
Initial Concentrations Initial Rate
Experiment [NO] [02] (M sl
1]{ 0.0010 0.0010 7.0x10°6
| 0.0010 0.0020 1.4x10°5
3 0.0010 0.0030 2.1x 10-5
4 \f 0.0020 0.0030 8.4x10-5
0.0030 0.0030 1.9x10-4

"o . -
a. Calculate the order of the reaction with respect to each reactant (6 pts.).
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b. Write the rate law for the reaction 3 pts.). fpte = kL NC a3 - b
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7) The reaction 2NO(g) + O2 (g) ----- > 2 NO2(g) is 2nd order in [NO2] at 300°C withk  7)

= 0.543 M-1 s-1; If in a closed container, the initial concentration of NO2 =0.05M,
then calculate the concentration of NO7 after half an hour at that temperature (6
pts.). [Note: For 2nd order kinetics: l/[Al=k .t + 1/[A]g ]
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8) Activation energies of reactions, Ey, are frequently found graphically. The
Arrhenius equation:

In (k) = ((- Eq))/RT + In(A)

is used. Values of k, the rate constant, are measured at various temperatures, then In
k and 1/T are calculated and plotted.

In one particular experiment the, co-ordinates of two points: one at upper left is
A(.0013.-3.8) and the other at lower right is B(0.0017, -12.8). Using this
information: A 7

(a ) Calculate the slope of the st. line (4 pts.)

Shope = i\’. By _ -%3-(Crg) . 1
" Ax-Bx ___.o0i» - 0,001 ~EAR
Siope, = - 23500 /
e

(b) Calculate the energy of activation of the reaction (Ea) in calories (6 pts.)
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9) If a rate law is second order (reactant) , doubling the reactant ‘_’l'\/ﬂdmfg‘ffhe reactipn 9)

rate (4 pts.). Cincrease \/’

activohon energy
W

10) The minimum energy to initiate a chemical reaction is the (2 pts.). v 10)

MULTIPLE CHOICE. Start on line 11 of your scantron paper. Select the one alternative that best completes the
statement or answers the question (3 pts each).

ICly
11) The electron-domain geometry and molecular geometry of iodine trichloride are and 1)
, respectively. Trama [ bipyna o
A) T-shaped, trigonal planar T-shaped
B) tetrahedral, trigonal pyramidal {
C) octahedral, trigonal planar
rigonal bipyramidal, T-shaped
-) trigonal bipyramidal, trigonal planar
o Q
12) The F-B-F bond angleinthf'BF3 olecule is 120 . 12)
A) 109.5° i ‘ C) 180° D) 90° E) 60°
13) According to valence bond theory, which orbitals on bromine atoms overlap in the formation of 13)
the bond in Brp? P
A) 3s B) 3p C) 4s (D) 4p E) 3d
-T il ]
14) The total number @onds in the H—C=C— gC—ngN molecule is . 14)
A)3 B) 4 "6y " D)9 E) 12
15) The Lewis structure of carbon monoxide is given below. The hybridizations of the carbon and 15)
oxygen atoms in carbon monoxide are and , respectively.
:C=0:
TN
A) sp, sp3 B) sp3, sp2 €)sp.sp ) D) sp2, sp3 E) sp2, sp2
16) The compound below is an ‘ 16)
H H
[
B—E=t——H
|
H H
A) olefin
B) e
) alkyne
D) alkene

E) aromatic compound
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e panhomers ,
) Optically active molecules that are mirror images of each other are called 17) E
A) cofactors
B) chiral compounds

C) allotropes

D) geo ical.isomers
~E) enantiomers
2- browme butane
. 1) B

18) The addition of HBr to 2-butene produces
A) no reaction
2-bromobutane—
C) 2,3-dibromobutane
D) 1-bromobutane
E) 1,2-dibromobutane

19) Which substance in the reaction below either appears or disappears the fastest? 19) a3
4N H3 +@4N02 + 6Ho0
Vi
féz,%
B) N
C)H
D) NOQ
E) The rates of appearance/disappearance are the same for all of these.
20) Consider the following reaction: 20) A
A —2C
The average rate of appearance of C is given by A[C]/At. Comparing the rate of appearance of C
e:}d,mgrate of disappearance of A, we get A[C]/At = x (-A[A]/AY).
A) +2} B) +1 C) -1/72 D) -1 E) +1/2
.
21) If the rate law for the reaction K talrel” oy B

2A + 3B —products

is first order in A and second-erder in B, then the rate law is rate = .
A KAREB  /B) k[A][BIZ} C) k[A]2[B]2 D) K[A]2[B] E) k[A][B]
NS
2) _A

0.k C%ﬂ22) The half-life of a first-order reaction is 13 min. If the initial concentration of reactant is 0.085 M, it

{f/:_, =g takes— min for it to decrease to 0.055 M.
: KD i®; B) 0.048 C) 36 o1 N
|5 snona= 0 12
K i zZ 0.06%
+ = §.20 InCAde = —kt +1nlAal,
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TRUE/FALSE. In your scantron, fill up bubble(A\ /fbr tru?;nd bubblé’il;?bf?éls;?answers (3 pts/question).
ST e

23) Hybridization is the process of mixing atomfc orbitals as atoms approach each other to form a
bond. Twme

24) A carbon with@or more attached groups will be chiral. T @S
25) The half-life for a first order rate law depends on the starting concentration. Feilce

26) Units of the rate constant of a reaction are independent of the overall reaction order. False

23)

24)
25)

26)
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